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Excel Answer Sheet for Economics 210

Chapter: 

To Accompany Excel Workbook: 13_Productionandcosts.xls

Refer to the Above Excel Workbook in answering the questions below. For each spreadsheet in the workbook, a spreadsheet title and a brief description of the spreadsheet precede one or more questions based on that spreadsheet. Bold letters indicate the spreadsheet name.

Production Function: Short Description of Worksheet. 

1. Total output increases as more laborers are used (up to 10 laborers).  Why is the rate on increase in output not constant over the whole range?  That is, why isn't the graph of the production function a straight line?

Total Cost Curve: Short Description of Worksheet. 

2. Given the production function of the firm, will it choose to hire as many as 11 laborers?  If so, under what condition(s). 

3. Use the scroll bar to change the factory cost per time period.  What happens to total costs as factory cost per period increases?

Total Costs: Short Description of Worksheet. 

4. Use the scroll bar to change the wage rate per unit of labor.  What happens to total costs as the wage rate per unit of labor increases? What happens to variable cost?

Describe the relationship between the Variable Cost curve and the Total Cost Curve.

Total & Per Unit Costs: Short Description of Worksheet. 

5. Use the scroll bar to change the wage rate per unit of labor.  What happens to marginal costs as the wage rate per unit of labor increases?  Why?

What happens to marginal cost as “Factory cost…” changes? Why is this so?

Per Unit Costs: Short Description of Worksheet. 

6. What output level minimizes Average Variable cost? _____________ 

Average Total Cost? ________________ 

Average Fixed Cost? ______________, and 

Marginal Cost? ______________.

At the minimum point on the average total cost curve, what is its relationship to marginal cost?

At the minimum point on the average variable cost curve, what is its relationship to marginal cost?

LRTC/LRAC: Short Description of Worksheet. 

7. Describe the relationship between Long Run Total Cost (LRTC) and Long Run Average Total Cost (LRAC). 

LRAC: Short Description of Worksheet. 

8. Why are Long Run Marginal Cost (LRMC) and Long Run Average Total Cost (LRAC) equal for all output levels between 25 and 70?

LRTC/SRTC: Short Description of Worksheet. 

9. Describe the relationship between Long Run Total Cost (LRTC) and Short Run Total Cost (SRTC).

LRAC/SRAC: Short Description of Worksheet. 

10. According to the graph, over what range of quantities would you describe the industry as one with increasing returns to scale?  Decreasing returns to scale?  Constant returns to scale?
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How long did it take you to finish this exercise set?

Please rate its difficulty.  Circle one of the numbers on the scale below

1


2

3

4

5

Extremely easy






extremely difficult

Please rate its clarity.  Circle one of the numbers on the scale below
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Extremely clear






extremely confusing

Please suggest ways to improve the exercise set, in terms of either clarity or content.

